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54. Mixing Alcohol Solutions A pharmacist needs to obtain a 70%
alcohol solution. How many ounces of a 30% alcohol solution
must be mixed with 40 ounces of an 80% alcohol solution to
obtain a 70% alcohol solution?

Add x ounces of 30% solution to 40 ounces of 80% so-
lution to get x + 40 ounces of 70% solution.
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55. Harvesting Wheat With the old combine, Nikita’s entire
wheat crop can be harvested in 72 hr, but a new combine can
do the same job in 48 hr. How many hours would it take to
harvest the crop with both combines operating?

The rate for the old combine ig/ 1/72)crop/hr and for the
new one it is 1/48 crop/hr. Togetherthe rate is 1/x crop/hr.
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57. Batman and Robin Batman can clean up all of the crime in
Gotham City in 8 hr working alone. Robin can do the same job
alone in 12 hr. If Robin starts crime fighting at 8 A.m. and Bat-
man joins him at 10 A.M., then at what time will they have all
of the crime cleaned up?

58. Scraping Barnacles Della can scrape the barnacles from a
70-ft yacht in 10 hr using an electric barnacle scraper. Don can
do the same job in 15 hr using a manual barnacle scraper. If
Don starts scraping at noon and Della joins him at 3 p.M., then
at what time will they finish the job?
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What is the simple interest rate if $109.45 in interest is earned on a deposit of $1662.47 in one vear?

The simple interest rate is D%_
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Cameron and his friend John bought a used circus carousel for $63,721,
inchding sales tax. If the sales tax rate is 7%, then what was the cost of the

carousel before the tax? % = pnco 4 Qﬂa
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1 paid one-half of her game-show winnings to the government for taxes. She invested one-third of her winnings in Jeff's copy shop at 19% interest and one-sixth

er winnings in Kaiser's German Bakery at 12% interest. If she earned a total of $5.250 on the investments in one year, then how much did she win on the game
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Bobby and Rick are in a 16-lap race on a one-mile oval track. Bobby, averaging 92 mph, has completed six laps just as Rick is getting his car onto the track. What

speed does Rick have to average to be even with Bobby at the end of the sixteenth lap?
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